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Q5. 

 

 

A.  B.  

C.  D.  

 

Q6. __________ is the synonym of "EXHORT". 
 

A. Extract B. Force 

C. Encourage D. Exterminate 

 

Q7. __________ is the antonym of "CROOKED". 
 

A. Straight B. Circular 

C. Rectangular D. Spiral 

 

Q8. Identify the meaning of the idiom. 
 
"Pull someone's leg" 

 

A. Try to make someone taller. B. Tease someone. 

C. Wake someone up. D. Make someone dance. 

 

Q9. The sentence given below may contain one or more mistakes. Identify the correct sentence. 
 
"It took four of then three hours to built the boat." 

 

A. It took four of them three hours to built the 

boat. 

B. It took four of then three hours to build the 

boat. 

C. It is taken four of them three hours to build the 

boat. 

D. It took four of them three hours to build the 

boat. 
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Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
 
I don't know how the money I kept in my wallet got _______ (steal). 

 

A. stolen B. steal 

C. stole D. stealed 

 

Q11. __________coined the slogan 'Jai Jawan Jai Kisan'. 
 

A. Lala Lajpat Rai B. Vallabhbhai Patel 

C. Indira Gandhi D. Lal Bahadur Sastri 

Q11. __________ )O '�0 �=?) �0 �?@?)' ?? )?1? �?0?। 
 

A. ल?ल? ल?�+, 1?0 B. =ल㉍ल..?� +�Oल 

C. �
/?1? �?
/I D. ल?ल -:??I1 >?}रI 
 

Q12. Recently, Central Drugs Standard Control Organisation (CDSCO) has asked drug 
manufacturers, to mention in leaflets inserted into drug packets or on promotional 
literature, information about ___________ of these medicines. 

 

A. Alternate / generic name B. Tested lab 

C. Adverse reactions / side effects D. Availability online 

Q12. A?ल AI /O, ?O �I0 �?�? /?)? �)0�}# @�� ) (CDSCO) )O, ?=? �)/?ा$?� � @O ?=? ?O  +P?O � /O !?लO �ए ल J+} 0? �=_?+)-
@�-�?I @?�Am0 /O, �) ?=?� � ?O  ___________ ?O  -?1O /O �?)??1I ?O)O ?O  �लए ?A? AP। 

 

A. =P��ल㉍+� / 9?/?m0 0?/ B. +1I्䵌+ ्䵚0K�>?ल? 

C. ्䵚-,�ूल ्䵚-,}ि0? / ?I�्䵚.?= D. ऑ0ल?�0 �+लm/,? 
 

Q13. Which one of the states mentioned below does NOT have a border with China? 
 

A. West Bengal B. Sikkim 

C. Arunachal Pradesh D. Himachal Pradesh 
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Q13. �)म⹍)�ल�?$ /O @O �?@ 1?जᱍ0 ?ी @I/? �I) ?ी @I/? @O @�I AI� )AK AP? 
 

A. +��ि/ -
�?ल B. 99���/ 

C. 
y+?िल ्䵚?O> D. /:/?िल ्䵚?O> 

 

Q14. The maximum strength of Rajya Sabha is ____. 
 

A. 225 B. 250 

C. 200 D. 210 

Q14. 1?जᱍ0 @.? ?O  @?}0K ?ी 
�??$/ @�_0? ____ AP। 
 

A. 225 B. 250 

C. 200 D. 210 

 

Q15. Pandu Pindara, an ancient religious place is situated in which district of Haryana? 
 

A. Rohtak B. Panchkula 

C. Jind D. Hisar 

Q15. Aर10?#? ?O  �?@ ��लO /O +?�!J �+�!?1? )?/? ए? �?�I) ??�/ा? }%ल �}%$ AP? 
 

A. 1K:,� B. +
ि�I ल? 

C. �I
? D. /:9?1 
 

Q16. The __________ was the beginning for Mughal Empire in India. 
 

A. Third battle of Panipat B. First battle of Panipat 

C. Second Battle of Panipat D. Battle of Terrain 

Q16. __________ .?1$ /O /J�ल @?�?जᱍ0 ?ी >Jy�$ %I। 
 

A. +?0I+, �I ,I91I लड?� B. +?0I+, �I +:लI लड?� 

C. +?0I+, �I ?9ू1I लड?� D. ,1?ࠂई �I लड?� 
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Q17. Haryana was the ________ state in the country to provide safe drinking water facilities 
throughout the state. 

 

A. 5th B. 4th 

C. 1st D. 2nd 

Q17. Aर10?#? +K1O 1?जᱍ0 /O @J1�?$ +I)O ?O  +?)I ?ी @J�=?? �+लबⱍ? ?1?)O =?ल? ?O> ?? _________ 1?जᱍ0 %?। 
 

A. +?
ि=?
 B. िL-? 

C. +:ल? D. ?9ू1? 
 

Q18. _________________ district of Haryana is known for its three very important battles in 
the history of India. 

 

A. Jind B. Kurukshetra 

C. Hisar D. Panipat 

Q18. Aर10?#? ?? ___________ ��ल? .?1$ ?O  ��$A?@ /O 
+)I $I) /Am=+K#ा ल)?�0K ?O  �लए />AJ1 AP। 
 

A. ��
? B. �I y्䵌Oर 

C. /:9?1 D. +?0I+, 

 

Q19. Sandeep Singh, the full back of Indian men's hockey team, who hails from Kurukshetra is 
also called as __________ in the media. 

 

A. Flicker Singh B. Flyer Singh 

C. The Wall D. Corner Khiladi 

Q19. .?1$I0 +Jy? AQ?ी �I/ /O ,J ल -P?, @�?I+ �@�A, �K ?ी ?J y?O} @O Aै䠂, �mAO /I�!0? /O __________ .I ?A? �?$? AP। 
 

A. �;ल�1 99
: B. ;ल?01 99
: 

C. ? =?ल D. �?0)1 �?ल?!I 
 

Q20. Who holds the portfolio of Union Minister for Steel at the National level? 
 

A. Shri. Giriraj Singh B. Smt. Nirmala Sitaraman 

C. Shri. Dharmendra Pradhan D. Shri. Arvind Sawant 
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Q20. 1?�रI0 }$1 +1 ?O �I0 �}+?$ /�}I ?? +K�ा,K�ल0K �?@?O  +?@ AP? 
 

A. ्䵦I. ��911?� 99
: B. ्䵦I/,I. -0/)ल? 9I,?1/0 

C. ्䵦I. //े䜂� ्䵚/?0 D. ्䵦I. 
1==
? 9?=
, 

 

Q21. The Haryana government has approved the construction of Kishau dam on ______, a 
tributary of the Yamuna. 

 

A. Rishiganga river B. Tons river 

C. Ken river D. Sindh river 

Q21. Aर10?#? @1??1 )O 0/J)? ?ी ए? @A?0? )?I ______ +1, �?>?� -?�? ?O  �)/?ा# ?ी /��K1I ?O ?I AP। 
 

A. �=?�
�? 0?I B. �m9 0?I 

C. �O 0 0?I D. 99
/ 0?I 
 

Q22. To encourage crop-diversification, Haryana government plans to promote ______ to 
achieve optimum crop diversification by 2022. 

 

A. Palm cultivation B. Coconut cultivation 

C. Horticulture D. Cotton cultivation 

Q22. Aर10?#? @1??1 )O, ,@ल-�=�=?I?1# ?K �Km@?�A$ ?1)O ?O  �लए, $%? 2022 $? @=Km?L ्䵖 ,@ल �=�=?I?1# ?K �?्䵎 ?1)O ?O  
�लए ______ ?K -*?=? ?O)O ?ी 0K�)? -)?� AP। 

 

A. ,?ड �I ?O,I B. 0?910ल �I ?O,I 

C. -?�=?0I D. �+?9 �I ?O,I 
 

Q23. Haryana is declared as India's _______ Open Defecation Free state. 
 

A. 5th B. 4th 

C. 1st D. 2nd 

Q23. Aर10?#? ?K .?1$ ?? _______ �+) !O�,?O >) ्䵛ी }�O�  K�?$ �?0? �0? AP। 
 

A. +?
ि=?
 B. िL-? 

C. +:ल? D. ?9ू1? 
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Q24. Recently, the Punjab and Haryana High Court has instructed states of Punjab, Haryana and 
Union Territory Chandigarh to not mention the _____ of the accused, victims or witnesses 
in proceedings before the court. 

 

A. Caste B. Name, Gender 

C. Religion D. Tribe 

Q24. A?ल AI /O, +��?- �1 Aर10?#? �चᩍ� m0?0?ल0 )O, +��?-, Aर10?#? �1 ?O � >?�@$ �?O> ��!I�* ?K �)?O> �?0? AP, �? 
??ल$ ?O  
@/? ??0ा=?AI /O 
�.0J्䴹K, +I�)$K 0? �=?AK ?ी ______ ?? �ल㉍लO? ) ?1O। 

 

A. �?-, B. 0?/, 9ल
� 

C. //) D. �0�?-, 

 

Q25. Who wrote the novel "Untouchable"? 
 

A. R.K. Narayan B. Ahmed Ali 

C. Mulk Raj Anand D. Raja Rao 

Q25. "
)��O-ल" �+m0?@ �?@)O �ल?? %?? 
 

A. �1. �O . 0?1?0+ B. 
:/? 
लI 

C. /Iल㉍� 1?� �0
? D. 1?�? 1?= 
 

Q26. Pandit Jasraj is a __________. 
 

A. Sufi Saint B. Writer 

C. Poet D. Classical Singer 

Q26. +��!$ �@1?� ए? __________ Aै䠂। 
 

A. 9,ूI 9
, B. लO?� 

C. �== D. >?}रI0 �?0� 
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Q27. Which of the following is NOT a work of Tulsidas? 
 

A. Ramcharitmanas B. Dohavali 

C. Gitavali D. Jhadufiri 

Q27. �)म⹍)�ल�?$ /O @O ?L) @I 1�)?, $Jल@I??@ ?ी 1�)? )AK AP? 
 

A. 1?/ि91,/?09 B. ?K:?=लI 

C. �I,?=लI D. �?!ू},1I 
 

Q28. One of the principle works of Banabhatta, a Sanskrit prose writer and poet of India, is the 
biography of King _____________. 

 

A. Harshavardhana B. Prithiviraj Chauhan 

C. Akbar D. Babar 

Q28. .?1$ ?O  ए? @�}?L $ �o लO?? �1 ?�= -?#.्䴾 ?? ए? �??) ??0ा 1?�? _____________ ?ी �I=)I AP। 
 

A. :?)=/)0 B. +mृ=I1?� िL:?0 

C. 
�-1 D. -?-1 
 

Q29. Which among the following is located in the lower reaches of the Shivalik range? 
 

A. Mewat Hills B. Aravalli Hills 

C. Morni Hills D. Dhosi Hill 

Q29. �>=?�ल? +=ा$ ्䵦O#I ?O  �)�लO �ल??K /O �)म⹍)�ल�?$ /O @O ?L) @I +A?)I �}%$ AP? 
 

A. /O=?, +:?डI B. 
1?=लI +:?डI 

C. /K10I +:?डI D. ?K>I +:?डI 
 

Q30. Which among the following is a man-made lake? 
 

A. Badkhal Lake B. Brahma Sarovar Lake 

C. Sannihit Sarovar Lake D. Sukhna Lake 
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Q30. �)म⹍)�ल�?$ /O @O ?L) @I �Iल ए? /?)= �)�/ा$ �Iल AP? 
 

A. -!?ल �Iल B. ्䵜}/? 91K=1 �Iल 

C. 9�m0/:, 91K=1 �Iल D. 9I?0? �Iल 

 

Q31. In which district of Haryana is Sultanpur Bird Sanctuary located? 
 

A. Faridabad B. Panchkula 

C. Gurgaon D. Hisar 

Q31. @Jल㉍$?)+J1 +?I 
.0?1o0, Aर10?#? ?O  �?@ ��लO /O �}%$ AP? 
 

A. ,1I??-?? B. +
ि�I ल? 

C. �Iड�?
= D. /:9?1 
 

Q32. Which river originates in the Mewat hills near Jitgarh and Manoharpur in Rajasthan? 
 

A. Sahibi B. Yamuna 

C. Tangri D. Krishnavati 

Q32. 1?�}%?) /O �I$�* �1 /)KA1+J1 ?O  +?@ /O=?$ ?ी +A?�)0K /O �?@ )?I ?? �?�/ AP? 
 

A. 9?/:-I B. 0/I0? 

C. �?
�1I D. �ृ�+?=,I 
 

Q33. Total area of Haryana is _______square kilometres. 
 

A. 44,312 B. 44,212 

C. 55,412 D. 33,612 

Q33. Aर10?#? ?? ?J ल ?O},ल _______ =�ा �?लK/I�1 AP। 
 

A. 44,312 B. 44,212 

C. 55,412 D. 33,612 
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Q34. ____________ is the chairman of Rajya Sabha. 
 

A. Vice President of India B. President of India 

C. Prime Minister of India D. Home Minister of India 

Q34. ____________ 1?जᱍ0 @.? ?O  
o0? AK$O Aै䠂। 
 

A. .?1, �O  �+1?�र+-, B. .?1, �O  1?�र+-, 

C. .?1, �O  ्䵚/?0/
रI D. .?1, �O  �:ृ/
रI 
 

Q35. The maximum strength of the current Lok Sabha is_________. 
 

A. 550 B. 530 

C. 552 D. 545 

Q35. =$ा/?) /O लK?@.? ?O  @?}0K ?ी 
�??$/ @�_0? ___ AP। 
 

A. 550 B. 530 

C. 552 D. 545 

 

Q36. Which device belongs to primary memory? 
 

A. Floppy Disks B. Optical Disks 

C. RAM D. CDROM 

Q36. ?L) @I �!=?�@ �?%�/? /O/K1I @O @�-��?$ AP? 
 

A. ;लI+I )!}� B. ऑ����ल )!}� 

C. RAM D. CDROM 

 

Q37. Badkhal lake is in ________ district. 
 

A. Faridabad B. Panchkula 

C. Karnal D. Hisar 
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Q37. -??ल �Iल ________ ��लO /O AP। 
 

A. ,1I??-?? B. +
ि�I ल? 

C. �10?ल D. /:9?1 
 

Q38. The deer park of Haryana is located in __________ district. 
 

A. Panchkula B. Karnal 

C. Hisar D. Kurukshetra 

Q38. Aर10?#? ?? �A1# +??ा  __________ ��लO /O �}%$ AP। 
 

A. +
ि�I ल? B. �10?ल 

C. /:9?1 D. �I y्䵌Oर 
 

Q39. How are fifth generation computers different from other generation computers? 
 

A. They are built with Miniaturized transistors B. They have Artificial Intelligence 

C. They are designed with Object Oriented 

Programming 

D. They are coded with Cryptic Binary Machine 

Language 

Q39. +?��=K +I*I ?O  ?� प⩍0K�1 
m0 +I*I ?O  ?� प⩍0K�1 @O ?P @O �.m) Aै䠂? 
 

A. =O 9/-0ि1?�़㱩! र?
��}�1 9O -0O :K,O :ै䠂 B. �0�O  +?9 �/�)},9>0ल �
�O9ल�े䜂9 :K,? :P 

C. =O ऑm�O�� �91ए
�O! ्䵚K्䵇?9/
� �O  9?- )!ज?�0 }�ए �ए 

�?,O :ै䠂 
D. �m:े䜂 }ि���� -?�01I />I0 .??? �O  9?- �K)!, }�0? 
�?,? :P 

 

Q40. Pick the odd one out: 
 
Democracy, Monarchy, Dictatorship, Voting 

 

A. Democracy B. Monarchy 

C. Dictatorship D. Voting 
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Q40. 
@��$ ?? �0) ?1O: 
 

लK?$�}, 1?�$�}, $?)?>?AI, /$??) 
 

A. लK�,
र B. 1?�,
र 

C. ,?0?>?:I D. /,??0 

 

Q41. Find the analogy. 
 
AGM : BHN :: HNT : 

 

A. GLN B. PTX 

C. IOU D. RTV 

Q41. @/?)$? "K�"O। 
 
AGM : BHN :: HNT : 

 

A. GLN B. PTX 

C. IOU D. RTV 

 

Q42. Find the missing number. 
 
54, 54, 46, 46, 38, 38,? 

 

A. 20 B. 18 

C. 30 D. 28 

Q42. 
)J+�}%$ @�_0? _?$ ?1O। 
 
54, 54, 46, 46, 38, 38,? 

 

A. 20 B. 18 

C. 30 D. 28 
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Q43. In certain language, if DESTROY is coded as 742, then how is CREATE coded as? 
 

A. 312 B. 256 

C. 5 D. 52 

Q43. 0�? ए? ?K! .??? /O DESTROY ?K 742 �ल?? �?$? AP $K CREATE ?K ]0? �ल?? �?ए�?? 
 

A. 312 B. 256 

C. 5 D. 52 

 

Q44. Find the value of X in the following equation: 
 
4(1+X) - 2(X-1) = 28 

 

A. 10 B. 11 

C. 22 D. 12 

Q44. �)म⹍)�ल�?$ @/I?1# /O X ?? /?) �)??लO: 
 
4(1+X) - 2(X-1) = 28 

 

A. 10 B. 11 

C. 22 D. 12 

 

Q45. A single die is rolled. Find the probability that the number obtained is greater than 2. 
 

A. 2/3 B. 1/3 

C. 1/6 D. 1/2 

Q45. ए? �@��ल !?� ?K 1Kल �?0? �?$? AP। �@ -?$ ?ी ]0? @म⹍.?=)? AP �? �?्䵎 AK)O =?लI @�_0? 2 @O 
�?? AK�I। 
 

A. 2/3 B. 1/3 

C. 1/6 D. 1/2 
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Q46. A fruit vendor brought 400 fruits. Out of which 30% are apples, 30% are bananas, 20% 
are oranges, and 20% are water melon. Find the total number of bananas and oranges in 
the fruits. 

 

A. 150 B. 120 

C. 240 D. 200 

Q46. ए? ,ल �=्䵅O $? )O 400 ,ल खᘼ1I?O। ��)/O @O 30% @O- Aै䠂, 30% ?O लO Aै䠂, 20% @�$1O Aै䠂, �1 20% $1-K� Aै䠂। ,लK /O ?O लK �1 
@�$1K ?ी ?J ल @�_0? �?$)I AP? 

 

A. 150 B. 120 

C. 240 D. 200 

 

Q47. A shopkeeper buys 1000 umbrellas for Rs.85 each. He sells them for Rs.100 each. Did he 
make a profit or incur a loss and by how much? 

 

A. Profit of Rs.10000 B. Loss of Rs.85000 

C. Profit of Rs.15000 D. Profit of Rs.16000 

Q47. ए? ?J??)??1 �m0O? �$1I 85 y+0O ?ी ?1 @O 1000 �$र10?� ?1I?$? AP। =A A1 ए? ?K 100 y+0O ?ी ?1 @O -O�$? AP। �@O ल?. 

AI� 0? )J?@?), �1 �?$)?? 
 

A. 10000 y+0O �? ल?. B. 85000 y+0O �? 0I�9?0 

C. 15000 y+0O �? ल?. D. 16000 y+0O �? ल?. 

 

Q48. Sound cannot travel through _________. 
 

A. Water B. Air 

C. Glass D. Vacuum 

Q48. o=�) _________ ?O  /?o0/ @O AK?1 �J�1 )AK @?$I AP। 
 

A. +?0I B. :=? 

C. �?
ि D. >mू0 }-?0 
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Q49. The center of an atom is called __________. 
 

A. Nucleus B. Vacuole 

C. Pole D. Sub atom 

Q49. ए? +1/?#J ?O  ?O m� ?K __________ ?A? �?$? AP। 
 

A. �O m�� B. 91��,�? 

C. �I= D. �+ +1/?+I 
 

Q50. The term given for blood pressure that is higher than the normal reading is ____________. 
 

A. Hypotension B. Hypertension 

C. Hyperextension D. Overextension 

Q50. @?/?m0 1I�!�� @O 
�?? 1्䴹�?+ ?O  �लए �?0? �0? >बⱍ? ____________ AP। 
 

A. 
ल㉍+ 1�,ि?+ B. �चᩍि 1�,ि?+ 

C. �चᩍि ==},?1 D. 
-, ==},?1 
 

Q51. The circumference of a circle is ________ times its radius. 
 

A. 2  B. 4  

C.  
D. 8  

Q51. �?@I @?ा ल ?ी +र1�? �@?ी �}जᱍ0? ?O  ________ �J)? AK$I AP| 
 

A. 2  B. 4  

C.  
D. 8  

 

Q52. Find the area of a circle with circumference 108 cm. 
 

A. 910.56 cm2 B. 915.04 cm2 

C. 908.18 cm2 D. 927.81 cm2 
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Q52. ए? @?ा ल ?O  ?O},ल ?ी �#)? ?ी��0O ��@?ी +र1�? 108 cm AP| 
 

A. 910.56 cm2 B. 915.04 cm2 

C. 908.18 cm2 D. 927.81 cm2 

 

Q53. Observe the image below. ABC is an equilateral triangle within a circle of radius 8 cm and 
centre 'O'. Find area of the shaded portion. 
 

 
 

A.  
B. cm2 

C. cm2 D. cm2 
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Q53. )I�O ?I �� ��= ?K o0?) @O ?O?O| ABC, ए? @�?ा ल, ��@?ी �}जᱍ0? 8 cm �1 ?O � 'O' AP , ?O  
�$�ा$, ए? @/.J� �}?K# AP| 
�?0?��?$ .?� ?O  ?O},ल ?ी ?K� ?1O| 
 
 

 
 

A.  
B. cm2 

C. cm2 D. cm2 

 

Q54. If the circumference of a toy balloon is increased from 10 cm to 15 cm, what will be the 
value of the increased radius? 

 

A.  B.  

C.  

D.  
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Q54. 0�? ए? �?लL)O ?O  �Jबⱍ-?1O ?ी +र1�? ?K 10 cm @O 15 cm $? -*? ?I �?$I AP, $K -*O AIए �}जᱍ0? ??, /Kल㉍0 ]0? AK�?? 
 

A.  B.  

C.  

D.  

 

Q55. The area of a circle directly varies with the square of its radius. If the area of a circle with 
radius 5 cm is 'C' cm2, find the area of the circle with radius 25 cm. 

 

A. 13C cm2 B. 25C cm2 

C. 11C cm2 D. 34C cm2 

Q55. �?@I @?ा ल ?? ?O},ल, �@?ी �}जᱍ0? ?O  =�ा ?O  @?%, @I?O -?ल$? 1A$? AP| 0�? 5 cm �}जᱍ0? =?लO @?ा ल ?? ?O},ल 'C' 

cm2 AP, $K �}जᱍ0? 25 cm =?लO @?ा ल ?O  ?O},ल �? ?K� ?ी��ए। 
 

A. 13C cm2 B. 25C cm2 

C. 11C cm2 D. 34C cm2 

 

Q56. Find its area when a sector has an angle 15o and is cut out from a circle of radius 28cm. 
 

A. 1026.7 B. 1028.8 

C. 1027.6 D. 1020.7 

Q56. �@?? ?O},ल _?$ ?ी��0O �- �?@I @O]�1 ?? ?K# 15o AP �1 �}जᱍ0? 28 cm ?O   O1O @O AP| 
 

A. 1026.7 B. 1028.8 

C. 1027.6 D. 1020.7 

 

Q57. The circumference of two circles are in the ratio 1:9. The ratio of their area is: 
 

A. 4:9 B. 81:16 

C. 9:4 D. 1:81 
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Q57. ?K =LmK ?ी +र1�? 1: 9 ?O  
)J+?$ /O Aै䠂 । �)?O  ?O} ?? 
)J+?$ AP, 
 

A. 4:9 B. 81:16 

C. 9:4 D. 1:81 

 

Q58. Find the mass of 1m3 of gold in Kg when the density of this gold is 29gcm-3. 
 

A. 1000 B. 19000 

C. 29000 D. 1090 

Q58. 

 

 

A. 1000 B. 19000 

C. 29000 D. 1090 

 

Q59. Find the temperature equivalent of 40o C in Kelvin scale if the relation between Kelvin 
and Celsius scale is given by k = c + 273. 

 

A. 293k B. 273k 

C. 313k D. 318k 

Q59. 0�? ?O �ल㉍=) �1 @O�ल㉍@0@ }?O ल ?O  -I� ?? @�-�?, k = c + 273 �?1? �?0? �0? AP, $K ?O �ल㉍=) }?O ल /O, 40o C ?O  -1?-1, 
$?+/?) ?ी ?K� ?1O। 

 

A. 293k B. 273k 

C. 313k D. 318k 

 

Q60. Convert 66o C into Fahrenheit and Kelvin. 
 

A. 339k and 131f B. 328k and 113f 

C. 273k and 113f D. 318k and 131f 

Q60. 66o C ?K फ?1O)A?�� �1 ?O �ल㉍=) /O +र1=�$ा$ ?1O| 
 

A. 339k �1 131f B. 328k �1 113f 

C. 273k �1 113f D. 318k �1 131f 
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Q61. Convert 85o C into Fahrenheit scale. 
 

A. 167o f B. 185o f 

C. 150o f D. 198o f 

Q61. 85o C ?K फ?1O)A?�� /O +र1=�$ा$ ?1O| 
 

A. 167o f B. 185o f 

C. 150o f D. 198o f 

 

Q62. If 1 gram of water at 0o C is added to 1 gram of ice at 200o C , what will be the resulting 
increase in temperature? 

 

A. 10o C B. 80o C 

C. 60o C D. 50o C 

Q62. 0�? 0o C +1 1 ्䵇?/ +?)I ?K , 200o C +1 1 ्䵇?/ -,ा  /O �/ल?0? �?$? AP, $K $?+/?) /O �?$)I =L�ि AK�I? 
 

A. 10o C B. 80o C 

C. 60o C D. 50o C 

 

Q63. When can the same value of temperature be read in Celsius and Fahrenheit scale? 
 

A. -40o C B. 80o C 

C. -80o C D. 40o C 

Q63. $?+/?) �1 फ?1O)A?�� }?O ल /O, $?+/?) ?? @/?) /?), ?- +*? �? @?$? AP? 
 

A. -40o C B. 80o C 

C. -80o C D. 40o C 

 

Q64. Two spheres have radii in the ratio 1:4 and densities in the ratio 4:1 are heated to the same 
temperature and left in the same surrounding. What will be the ratio of their rate of 
cooling? 

 

A. 2:1 B. 1:2 

C. 1:4 D. 1:1 
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Q64. ?K ?O}K, ��)?O  �}जᱍ0? 1:4 ?O  
)J+?$ /O Aै䠂 �1  )m= 4:1 ?O  
)J+?$ /O Aै䠂, ए? AI $?+/?) +1 �/ा �?0O �?$O Aै䠂 �1 @/z+ �@-

+?@ /O �K) �?ए �?$O Aै䠂| �)?O  1O� ऑफ ?K �ल�� ?? 
)J+?$ ]0? AK�?? 
 

A. 2:1 B. 1:2 

C. 1:4 D. 1:1 

 

Q65. By which process can the mechanical properties of a metal be changed including the shape 
of the product? 

 

A. Water treatment B. Current treatment 

C. Radiation therapy D. Heat treatment 

Q65. �?@ ��्䵅0? �?1? �?@I ??$J ?O  0?��}? �J#K ?K �m+?? ?O  �??1 @�A$ -?ल? �? @?$? AP? 
 

A. �ल �+ि?1 B. ==द♍0I, /?1? �+ि?1 

C. ==}�1+ �+ि?1 D. ��/? �+ि?1 
 

Q66. The relative density of mercury is 15.6. How do you present this with the right unit? 
 

A. 15.6 x 103 kg B. 15.6 x 103 m 

C. 15.6 x 103 kg/m D. 15.6 x 103 kg/m2 

Q66. /]0Jा1I ?? �+O�??  )m= 15.6 AP| �+ �@O @AI 0K�)� ?O  @?% ?P @O �}$J$ ?1$O Aै䠂? 
 

A. 15.6 x 103 kg B. 15.6 x 103 m 

C. 15.6 x 103 kg/m D. 15.6 x 103 kg/m2 

 

Q67. 

The density of turpentine oil is  . What will be its relative density? 
 

A. 0.84 B. 0.94 

C. 0.54 D. 0.74 

Q67. 

$?1+I) ?O  $Oल ??  )m=  AP| �@?? �+O�??  )m= ]0? AK�?? 
 

A. 0.84 B. 0.94 

C. 0.54 D. 0.74 
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Q68. The ability to pull metals into thin sheets is known as? 
 

A. Ductility B. Malleability 

C. Conductivity D. sonority 

Q68. ??$J� � ?K, +$लI �??1K /O ?K�)O ?ी ?/$? ?O  z+, ?K ]0? ?A$O Aै䠂? 
 

A. !I��I9ल�I B. /?9लए--9ल�I 

C. �
 !���==�I D. 9K0K91�I 
 

Q69. Which of the following metals can easily be cut with a knife? 
 

A. Sodium B. potassium 

C. calcium D. Alluminium 

Q69. �)म⹍)�ल�?$ /O @O ?L) @I ??$J, �??K  @?%, �@?)I @O, ??�I �? @?$I AP? 
 

A. 9K)!0/ B. +K�P9>0/ 

C. �P �ल㉍>0/ D. एल㉍0I/I-00/ 

 

Q70. The SI unit of capacitance is: 
 

A. Ohm-second B. Wb 

C. coulomb (volt) -1 D. A-m2 

Q70. ]0?+?@I�)}@ ?ी SI 0K�)� AP: 
 

A. Ohm-second B. Wb 

C. coulomb (volt) -1 D. A-m2 

 

Q71. Number of wavelengths of Kr86 in a 1 m are: 
 

A. 552189.36 B. 2533164.33 

C. 1650763.73 D. 3428123.33 
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Q71. 1 m /O, Kr86 ?ी ==लO�M@, ?ी @�_0? Aै䠂: 
 

A. 552189.36 B. 2533164.33 

C. 1650763.73 D. 3428123.33 

 

Q72. A sphere is located symmetrically with a point 6 cm from away. What will be the solid 
angle coordinated by the circumference of 2 cm? 

 

A. 2.5 x 10-2 steradian B. 6 x 10-2 steradian 

C. 8 x 10-2 steradian D. 16.6 x 10-2 steradian 

Q72. ए? �Kल? @/�/$ z+ /O, ए? �-�?J ?O  @?%, 6 cm ?K1 �}%$ AP| 2 cm ?ी +र1�? �?1? @/�m=$  K@ ?K# ]0? AK�?? 
 

A. 2.5 x 10-2 steradian B. 6 x 10-2 steradian 

C. 8 x 10-2 steradian D. 16.6 x 10-2 steradian 

 

Q73. Number of fermi in 1 meter is: 
 

A. 106 B. 1015 

C. 1014 D. 1017 

Q73. 1 /I�1 /O ,/I ?ी @�_0? AP: 
 

A. 106 B. 1015 

C. 1014 D. 1017 

 

Q74. Which of the following metals is the best conductor of electricity? 
 

A. Graphite B. Silver 

C. Paper D. Rubber 

Q74. �)म⹍)�ल�?$ /O @O ?L) @I ??$J, �-�लI ?ी @-@O 
चᩍ�I, ?� !]�1 AP? 
 

A. 9I9? B. ि?
?I 

C. �?�ज D. 1-1 
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Q75. What are the two elements used to make bronze? 
 

A. Tin and copper B. Iron and copper 

C. Aluminum and silicon D. Iron and carbon 

Q75. ??�}0 -)?)O ?O  �लए �?) ?K $m=K ?? �+0K� �?0? �?$? AP? 
 

A. /�0 �1 ,?
-? B. लK:? �1 ,?
-? 

C. एल㉍0ू/I-00/ �1 999ल�I0 D. लK:? �1 �?-)0 

 

Q76. Valence of Aluminum is 3. Aluminium shares it's valence with that of Boron. Which of 
the following categories does Boron belong in? 

 

A. metal B. non-metal 

C. steel D. gold 

Q76. एल㉍0J�/�)0/ ?ी =PलO@ 3 AP| एल㉍0J�/�)0/, -K1Q) ?O  @?%, 
+)? =PलO@ -?��$? AP| �)म⹍)�ल�?$ /O @O �?@ ्䵦O#I /O -K1Q) �$? AP? 
 

A. /?,I B. 0I0-/O�ल 

C. �}+?, D. 9K0? 
 

Q77. Which of the following metals will melt when held in your palm? 
 

A. Silver B. Gold 

C. Gallium D. Steel 

Q77. �+?ी A%OलI /O 1?O �?)O +1 �)म⹍) /O @O ?L) @I ??$J �+ लO�I? 
 

A. ि?
?I B. 9K0? 

C. �P9ल0/ D. �}+?, 

 

Q78. When it comes to identifying properties of any metal, which of the following statements 
is not correct? 

 

A. Mainly solids at room temperature. B. Shiny when polished 

C. Low density D. When they form ions, the ions are positive 
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Q78. �- �?@I ??$J ?O  �J#K ?ी +A�?) ?1)O ?ी -?$ �$I AP, $K �)म⹍)�ल�?$ /O @O ?L) @? ?%), @AI नही䀂 AP? 
 

A. /I_0 z+ 9O �/1O �O  ,?+/?0 +1  K9 B. ि/�??1 �- +I9ल> }�0? �?,? :P 

C. �/  0m= D. �- =O �00 -0?,O :ै䠂, ,K �00 9�?1?m/� :K,O :ै䠂 
 

Q79. Presence of which of the following metal will make an alloy ferrous ? 
 

A. Lead B. Zinc 

C. Iron D. Alluminium 

Q79. �)म⹍)�ल�?$ /O @O �?@ ??$J ?ी �+�}%�$, ए? �/्䵦 ??$J ?K ,O 1@ -)? ?O�I ? 
 

A. लO! B. ��
� 

C. लK:? D. एल㉍0I/I-00/ 

 

Q80. Which of the following is an alloy of tin? 
 

A. Bronze B. Pewter 

C. Steel D. Brass 

Q80. �)म⹍)�ल�?$ /O @O ?L) @? ��) ?? �/्䵦 ??$J AP? 
 

A. �?
}0 B. �0�ू1 

C. �}+?, D. +I,ल 

 

Q81. Which of the following is highly resistant to corrosion? 
 

A. Zinc B. Iron 

C. Copper D. Alluminium 

Q81. �)म⹍)�ल�?$ /O @O ?L), ��� ?O  �लए, 
m0�?? ��$1K?I AP? 
 

A. ��
� B. लK:? 

C. ,?
-? D. एल㉍0I/I-00/ 
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Q82. A centigrade and a fahrenheit thermometers (thermistor resistors) are immersed in boiling 
water. The water temperature decreases on thermistor associated with fahrenheit by 
140o F. What is the temperature drop on the thermistor associated with centigrade? 

 

A. 60o B. 80o 

C. 30o D. 40o 

Q82. ए? @O�I्䵇O! �1 ए? फO )?��?�� %/?ा/I�1 (%�/ा}�1 ��$1K??) �-ल$O +?)I /O !J-?ए �?$O Aै䠂| %�/ा}�1 @O �J)O ,?1OAO�� +1 +?)I ?? 
$?+/?) 140o F ?/ AK$? AP| @O�I्䵇O! ?O  @?% �J)O %�/ा}�1 +1 $?+/?) /O ��1?=� �?$)I AK @?$I AP? 

 

A. 60o B. 80o 

C. 30o D. 40o 

 

Q83. Mohan passes a stream of current through a conductor in his science lab. He observes a 
4o C increase in temperature. For his next experiment, Mohan triples the intensity of the 
current stream. What will be the rise in temperature now? 

 

A. 27o B. 36o 

C. 18o D. 12o 

Q83. /KA) 
+)I �=_?) �0K�>?ल? /O ए? ?� !]�1 ?O  /?o0/ @O ?1�� ?ी ए? ??1? .O�$? AP| �@O $?+/?) /O 4o C =L�ि )[1 �$I AP| 

+)O 
�लO �0K� ?O  �लए, /KA) ?1�� ?O  $I}$? ?K, $I) �J)? जᱍ0??? -"?$? AP|
- $?+/?) /O �?$)I =L�ि AK�I? 

 

A. 27o B. 36o 

C. 18o D. 12o 

 

Q84. 20 liters of hot water at 60o C is mixed with an equal volume of cold water at 30o C . Find 
the resultant temperature. (specific heat of water = 4200 J/kgK). 

 

A. 45o C B. 90o C 

C. 60o C D. 30o C 

Q84. 60o C +1 20 लI�1 �/ा +?)I /O, 30o C +1 -1?-1 /?}? /O,  �!? +?)I �/ल?0? �?$? AP| +र1#?/I $?+/?) ?ी ?K� ?ी��ए|(+?)I 
?ी �=�>्䵖 �/I = 4200 J/kgK). 

 

A. 45o C B. 90o C 

C. 60o C D. 30o C 
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Q85. Density of mercury is 12.6 gcm-3. What would be its density in kgcm-3? 
 

A. 1.26 x 103 B. 0.126 x 103 

C. 126 x 103 D. 12.6 x 103 

Q85. /1]0J1I ?ी  )m= 12.6 gcm-3 AP| �@?ी  )m= kgcm-3 /O �?$)I AK�I? 
 

A. 1.26 x 103 B. 0.126 x 103 

C. 126 x 103 D. 12.6 x 103 

 

Q86. The mass of a body is 4 kg and its volume is 200 cm3. Find its relative density? 
 

A. 8 B. 20 

C. 15 D. 10 

Q86. ए? -Q!I ?? �व㕍0/?) 4kg AP �1 �@?ी /?}? 200cm3 AP| �@?? �+O�??  )m= ]0? AK�?? 
 

A. 8 B. 20 

C. 15 D. 10 

 

Q87. The volume of a body with density 2gcm-3 and mass 200 g is__ cm3? 
 

A. 100 

B.  

C. 50 
D.  

Q87. 2gcm-3  )m= $%? 200 g �व㕍0/?) =?लO ए? >1I1 ?? =Qल㉍0K/ __ cm3 AP? 
 

A. 100 

B.  

C. 50 
D.  

 

Q88. 
Calculate the mass of a body whose volume is 4m3 and density  ? 

 

A. 2160 B. 1040 

C. 2060 D. 1020 
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Q88. 

 

 

A. 2160 B. 1040 

C. 2060 D. 1020 

 

Q89. What are the units and dimensions of constants a and b in Van der Waals 

equation  , where P is Pressure, V is Volume, R is Gas constant 
and T is Temperature? 

 

A. m3 B. cm 

C. m D. Km 

Q89. 

=P) !O1 =?ल㉍@ @/I?1#  , /O �}%1?�? a �1 b ?ी 0K�)�M@ �1 !?�/O>m@ ]0? AK�O, �A?? P �O>1 
AP, V =Qल㉍0K/ AP, R �P@ ??�}�O� AP �1 T $?+/?) AP? 

 

A. m3 B. cm 

C. m D. Km 

 

Q90. The base and height of the triangle are in ratio 2:5. If the area of the triangle is 245 
cm2 find the base and height of the triangle. 

 

A. Height 9cm and Base 7cm B. Height 14cm and Base 35cm 

C. Height 1cm and Base 22cm D. Height 64cm and Base 10cm 

Q90. �}?K# ?? �??1 �1 �� �?� 2: 5 ?O  
)J+?$ /O AP। 0�? �}?K# ?? ?O},ल 245 cm2 AP, $K �}?K# ?? �??1 �1 �? �?� ?ी 
�#)? ?ी��ए| 

 

A. �	 ि?� 9cm �1 �/?1 7cm B. �	 ि?� 14cm �1 �/?1 35cm 

C. �	 ि?� 1cm �1 �/?1 22cm D. �	 ि?� 64cm �1 �/?1 10cm 
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Q1. 

 

 

A.  B.  

C.  D.  

 

Q2. 

 

 

A.  B.  

C.  D.  

 

Q3. 

 

 

A.  B.  

C.  D.  

 

Q4. 

 

 

A.  
B.  

C.  D.  
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Q5. 

 

 

A.  B.  

C.  D.  

 

Q6. ________ is the synonym of "DISSEMBLE". 
 

A. Help B. Disperse 

C. Resemble D. Pretend 

 

Q7. _______ is the antonym of "HASTEN". 
 

A. Decrease B. Delay 

C. Accelerate D. Facilitate 

 

Q8. Identify the meaning of the idiom 
 
 
"Make a mountain out of a mole hill" 

 

A. Exaggerate a minor issue. B. Work hard to make a lot of money with a small 

investment. 

C. Rise up to a high position in life from a low 

level. 

D. Grow in popularity. 

 

Q9. The sentence given below may contain one or more mistakes. Identify the correct sentence. 
 
"The sheeps ran out of the farm when the shepherd is not watching." 

 

A. The sheeps ran out of the farm when the 

shepherd was not watching. 

B. The sheep ran out of the farm when the 

shepherd is not watching. 

C. The sheep ran out of the farm when the 

shepherd was not watching. 

D. The sheeps run out of the farm when the 

shepherd is not watching. 
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Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
 
I have never _____ (be) to Agra to visit the Taj Mahal. 

 

A. be B. been 

C. being D. had been 

 

Q11. _________ was the first Indian to become a member of British Parliament. 
 

A. Dadabhai Naoroji B. Gopalkrishna Gokhale 

C. Bipin Chandra Pal D. Aurobindo Ghosh 

Q11. ___________ }ि}?> 9
9/ �O  9/}0 -11O =?लO +:लO .?1-I0 .O। 
 

A. &?&?-?� )L0K�I B. �K+?ल�ृ�# �K�लO 

C. -?++) ��्䵖 +?ल D. 
0-?�&K  K? 

 

Q12. India,in April-2019, successfully test-fired its first indigenously designed and developed 
long-range sub-sonic cruise missile ___________ from a test range in Odisha. 

 

A. Vajra B. Nirbhay 

C. Garuda D. Pushpak 

Q12. .?1- 1O, 
�Pल-2019 /े䜂, �}?>? /े䜂 ए� +1I�, 1े䜂� 9O ल
-I /K1I �ी �+-9K}1� ्䵅K � }/9?�ल ___________ �? +:ल? 
}=/O>I z+ 9O }?�?�1 �1 }=�}9- +1I�, }�0?। 

 

A. =्䵌 B. ))--/ 

C. �y] D. +I�+� 

 

Q13. Out of the total geographic area in the world, Indian sub-continent covers about ______. 
 

A. 2.4% B. 3.5% 

C. 5.1% D. 1.8% 

Q13. /J}10? �O  �J ल .L�K}ल� �O},ल /े䜂, .?1-I0 �+/:?�I+ �ी }:}9O/?1I ल�.� ________ :P। 
 

A. 2.4% B. 3.5% 

C. 5.1% D. 1.8% 
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Q14. Lok Sabha is known as the ________. 
 

A. Parliament B. House of people 

C. Council of states D. Upper House 

Q14. लK� 9.? �K _________ �O  1?/ 9O �?1? �?-? :P। 
 

A. @�@& B. लK�ो䬂 �?  0 

C. 0?जᱍ/ो䬂 �I +90?& D. �चᩍ� @&) 

 

Q15. Muhammad Ghori defeated ________ in the Battle of Chandawar. 
 

A. Prithviraj Chauhan B. Jaichand Gaharwar 

C. Qutb-ud-din Aibak D. Ghiyath al-Din 

Q15. /K:म⹍// �K1I 1O �m/?=1 �ी ल)?� /े䜂 _______ �K +1?}�- }�0?। 
 

A. +mृ=I0?� �LA?) B. �/��& �A0=?0 

C. �I $I?-�&-&I) �?� D. ��/?$ 
ल-&I) 

 

Q16. Which city of Haryana is known as City of Weavers? 
 

A. Rohtak B. Panchkula 

C. Panipat D. Hisar 

Q16. :र10?,? �O  }�9 >:1 �K -J1�1ो䬂 �? >:1 �:? �?-? :P? 
 

A. 0KA$� B. +���I ल? 

C. +?)I+$ D. 9A@?0 
 

Q17. Haryana was the _______ state in the country to link all villages with all-weather roads. 
 

A. 5th B. 4th 

C. 1st D. 2nd 
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Q17. :र10?,? 9.I �?
=ो䬂 �K 9=व-/L9/I 9)�ो䬂 9O �K)1O =?ल? /O> �? _____ 1?जᱍ0 .?। 
 

A. +?��=?� B. �L%? 

C. +Aल? D. &@ू0? 
 

Q18. Where is the tomb of Ibrahim Lodi situated in Haryana? 
 

A. Pinjore B. Gurugram 

C. Rewari D. Panipat 

Q18. �ि?}:/ लK/I �ी �ि :र10?,? /े䜂 �:?
 :P? 
 

A. ++��L0 B. �Iy्䵇?. 

C. 0O=?]I D. +?)I+$ 

 

Q19. Under the "Aapki Beti Humari Beti" scheme of the Haryana Government, how much 
financial help will be provided to the second girl child of a Scheduled Class family born 
on or after 22nd January 2015? 

 

A. Rs. 21000 one time B. Rs 15000 one time 

C. Rs. 5000 per year for five years D. Rs. 5000 per year for ten years 

Q19. :र10?,? 91�?1 �ी "�+�ी -O?I :/?1I -O?I" 0K�1? �O  -:-, 22 �1=1I 2015 0? �9�O  -?/ +P/? :I�, 
1J9K}�- �?-I �O  +र1=?1 
�ी /K91I -?}ल�? �K }�-1I �}.व� /// �/?1 �ी �?ए�I? 

 

A. 21000 z+�, �� ??0 B. 15000 z+�, �� ??0 

C. +?�� @?ल �O  ;ल� 5000 z+� �)$ =?- D. &@ @?ल �O  ;ल� 5000 z+� �)$ =?- 
 

Q20. One of the primary goals of the Haryana Agri-Business and Food Processing Policy 2018 
is to ________. 

 

A. Increase the number of agriculturists so there 

is lesser impact on urban population 

B. Increase the level of processing in perishables 

by 10 per cent in the next five years 

C. Decrease the subsidy given to agriculturists 

and increase subsidy to food processing so both 

are balanced 

D. Increase the number of women involved in 

agri-business by 20% 
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Q20. }1}म⹍ल}?- /े䜂 9O �L1 9?, :र10?,? �ी �L }?-}0=9?0 �1 ??o �9
}�1, 1I}- 2018 �O  �?.}/� लቌ䲚0ो䬂 /े䜂 9O ए� ________ :P। 
 

A. �ृ?�ो䬂 �I @�_/? .े䜂 =दृ♍�? �0)?, $?�� >A0I �??&I +0 �. 

�-?= +]O 
B. 
�लO +??� =?ो䬂 .े䜂, +=�?0I-�?द♍/ो䬂 �O  @�}�0# �? }$0 10 

�)$>$ ?^?)? 

C. ��@?)ो䬂 �K &I �?)O =?लI @mस@!I �K  �)? �0 �?द♍/ 

�@�}�0# �O  ;ल� @mस@!I �K ?^?)?, $?�� &K)ो䬂 �K @�$I;ल$ 

0�? �? @�O  

D. �ृ+?-व㕍/=@?/ .े䜂 >?;.ल .9Aल?�� �I @�_/? .े䜂 20% �I 
=दृ♍�? 

 

Q21. Mangal Nagar Vikas Yojana scheme focuses on _________. 
 

A. Role of Woman in rural development of 

Haryana 

B. Development of modern infrastructure in urban 

areas of Haryana 

C. Development of infrastructure in the rural 

areas and villages of Haryana 

D. Development of Health of State Employees and 

Pensioners of Haryana 

Q21. /
�ल 1�1 }=�?9 0K�1? ______ +1 �े䜂 }?- :P। 
 

A. A90/?#? �O  ्䵇?.I# +=�?@ .े䜂 .9Aल?�� �I -;ू.�? B. A90/?#? �O  >A0I �O्䵔ो䬂 .े䜂 �?I))� ?I))/?&I "?��O �? +=�?@ 

C. A90/?#? �O  ्䵇?.I# �O्䵔ो䬂 �0 �?�=ो䬂 .े䜂 ?I))/?&I "?��O �? 
+=�?@ 

D. A90/?#? �O  0?जᱍ/ �.-�?90/ो䬂 �0 +े䜂>)-K��/ो䬂 �O  }=?}m/ 

�? +=�?@ 

 

Q22. What is CMGGA programme? 
 

A. Chief Ministers Good Guidance Associates 

programme 

B. Chief Ministers Ground Guidance Associates 

programme 

C. Chief Ministers Guided Governance Affiliates 

programme 

D. Chief Ministers Good Governance Associates 

programme 

Q22. 9Iए/�I�Iए �?0व्䵅/ ]0? :P? 
 

A. �I, ;.))}�0 �I! �?�!े䜂@ �@K;@�टὍ@ �K्䵇?. B. �I, ;.))}�0 ्䵇?�� ! �?�!े䜂@ �@K;@�टὍ@ �K्䵇?. 

C. �I, ;.))}�0 �?�!O! �=)े䜂@ ��,;ल�� �K्䵇?. D. �I, ;.))}�0 �I! �=)े䜂@ �@K;@�� �K्䵇?. 
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Q23. As on 15-November-2019, who is the minister for Industries and Commerce in the 
Haryana Cabinet? 

 

A. Shri Dushyant Chautala B. Shri Manohar Lal Khattar 

C. Shri Anil Vij D. Captain Abhimanyu 

Q23. 15-1=
-1 -2019 �K, :र10?,? /
}}/
?ल /े䜂 �oK� �1 =?},जᱍ0 /
}I �L1 :K? 
 

A. ्䵦I &I�/�$ �L�?ल? B. ्䵦I .)KA0 ल?ल �टὍ�0 

C. ्䵦I 
))ल +=� D. �o$?) 
;-.m/I 
 

Q24. Haryana Government gives the Eklavya Award to ________ every year. 
 

A. 5 senior sportspersons B. 5 junior sportspersons 

C. 11 junior sportspersons D. 11 senior sportspersons 

Q24. :र10?,? 91�?1 :1 9?ल ________ �K, ए�ल}0 +J1}�?1 /O-I :P। 
 

A. 5 =90�  ��ल?)!/ो䬂 B. 5 �)ू)/0 ��ल?)!/ो䬂 

C. 11 �)ू)/0 ��ल?)!/ो䬂 D. 11 =90�  ��ल?)!/ो䬂 
 

Q25. Who wrote 'Jhadufiri', the first novel written in Haryanvi language? 
 

A. Surender Sharma B. Rajaram Shastri 

C. Deep Chand Bahman D. Surdas 

Q25. :र10?,=I .??? /े䜂 }ल?O �ए �./ �+m0?9 '�??K},1I' �ी 1�1? }�91O �ी .I? 
 

A. @I0े䜂्䵖 >.?- B. 0?�?0?. >?}्䵔I 

C. &I+ ��& ?A.) D. @0ू&?@ 

 

Q26. Who received the Sahitya Akademi Award for her English novel, Rich Like Us? 
 

A. Shashi Despande B. Kamala Markandaya 

C. Nayantara Sahgal D. Shanti Rai 
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Q26. }�m:ो䬂1O 
+1O 

्䵇O�I �+m0?9, "र1� ल?�� 
9" �O  }लए 9?}:त⑍0 
�?//I +J1}�?1 �?्䵎 }�0?? 
 

A. >;> &O>+?�!O B. �.ल? .?�ं!O/ 

C. )/)$?0? @A�ल D. >?�)$ 0?/ 

 

Q27. The poet who was known as 'Surya Kavi' of Haryanvi music genres Ragni and Saang is 
________. 

 

A. Dada Lakhmi Chand B. Dayachand Mayna 

C. Nek Chand Saini D. Jasraj 

Q27. 1?�1I �1 9?
� 1?/� :र10?,=I 9
�I- >P}ल0ो䬂 �O  '9K0व �}=' �O  1?/ 9O />:J1 �}= _______ :K। 
 

A. &?&? ल�.I ��& B. &/?��& ./)? 

C. )O� ��& @P)I D. �@0?� 

 

Q28. Which seasonal river of Haryana originates from the lower Shivalik hills and enters 
Haryana near Ambala? 

 

A. Markanda B. Ghaggar 

C. Indori D. Dohan 

Q28. :र10?,? �ी �L1 9I /L9/I 1/I, }1�लI }>=?}ल� +:?})0ो䬂 9O }1�ल-I :P �1 

-?ल? �O  +?9 :र10?,? /े䜂 �=O> �1-I :P? 
 

A. .?�ं! B.  _�0 

C. ��&K0I D. &KA) 

 

Q29. Which district of Haryana is known as rice bowl district? 
 

A. Faridabad B. Bhiwani 

C. Karnal D. Sirsa 

Q29. :र10?,? �O  }�9 }�लO �K �?=ल �? �?K1? }�ल? �:? �?-? :P? 
 

A. ,0I&???& B. ;-=?)I 

C. �0)?ल D. ;@0@? 
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Q30. The River Yamuna enters this district first when it flows into the State of Haryana. 
 

A. Ambala B. Kurukshetra 

C. Gurugram D. Yamunanagar 

Q30. :र10?,? 1?जᱍ0 /े䜂 -:1O +1 0/J1? 1/I 9-9O +:लO �9 }�लO /े䜂 �=O> �1-I :P। 
 

A. 
�??ल? B. �I y�O्䵔 

C. �Iy्䵇?. D. /.I)?)�0 
 

Q31. ____________ is situated in Thanesar. 
 

A. Phool ka Makbara B. Sheikh Chilli Ka Makbara 

C. Mohammed ka Makbara D. Khilji ka Makbara 

Q31. ____________ .?1O91 /े䜂 }}.- :P। 
 

A. ,ूल �? .�?0? B. >O� ��ल㉍लI �? .�?0? 

C. .KAम⹍.& �? .�?0? D. ��ल�I �? .�?0? 
 

Q32. Which river was known as Aruna in ancient times? 
 

A. Markanda B. Ghaggar 

C. Indori D. Dohan 

Q32. �?�I1 �?ल /े䜂 }�9 1/I �K 
y,? �O  1?/ 9O �?1? �?-? .?? 
 

A. .?�ं! B.  _�0 

C. ��&K0I D. &KA) 

 

Q33. How many schedules are there in Indian constitution? 
 

A. 4 B. 5 

C. 10 D. 12 
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Q33. .?1-I0 9
}=0?1 /े䜂 }�-1I 
1J9K}�0?
 :K? 
 

A. 4 B. 5 

C. 10 D. 12 

 

Q34. Who appoints the chief election commissioner of India? 
 

A. The Chief Justice of India B. The President of India 

C. The Prime minister of India D. The Vice President of India 

Q34. .?1- �O  /J_0 �J1?= �0J्䴹 �ी }10J}्䴹 �L1 �1-O :K? 
 

A. -?0$ �O  .I_/ m/?/??I> B. -?0$ �O  0?�र+)$ 

C. -?0$ �O  �??).�्䵔I D. -?0$ �O  �+0?�र+)$ 

 

Q35. Emergency at national level can be declared under _____ of the Indian Constitution. 
 

A. Article 352 B. Article 353 

C. Article 356 D. Article 360 

Q35. 1?�रI0 }-1 +1 �+?-�?ल �ी  K?,?, .?1-I0 9
}=0?1 �O  _______ �O  

-�व- �ी �? 9�-I :P। 
 

A. 
)Iचᩍ�O& 352 B. 
)Iचᩍ�O& 353 

C. 
)Iचᩍ�O& 356 D. 
)Iचᩍ�O& 360 

 

Q36. Pick the full form of DOS. 
 

A. Digital Operating System B. Drive Operating System 

C. Disk Operating System D. Digital Open System 

Q36. ?Q9 �? +K,व z+ �J1े䜂। 
 

A. )!m��ल �+0O9��� ;@}�. B. ्䵑?�= �+0O9��� ;@}�. 

C. )!}� �+0O9��� ;@}�. D. )!m��ल �+) ;@}�. 
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Q37. Among the given districts of Haryana, ________ is the largest producer of cotton seeds. 
 

A. Panchkula B. Karnal 

C. Sirsa D. Kurukshetra 

Q37. }/ए �ए }�लO /े䜂 9O ________ }�ल? :र10?,? /े䜂 �+?9 �O  -I� �? 9-9O -)? �त⑍+?/� :P। 
 

A. +���I ल? B. �0)?ल 

C. ;@0@? D. �I y�O्䵔 
 

Q38. ______________ is built across the Sutlej river. 
 

A. Nagarjuna Sagar Dam B. Sardar Sarovar Dam 

C. Indira Sagar Dam D. Bhakra Nangal Dam 

Q38. ______________ �K 9-ल� 1/I �O  }�1?1O -1?0? �0? :P। 
 

A. )?�?�I-) @?�0 ??�? B. @0&?0 @0K=0 ??�? 

C. ��9&0? @?�0 ??�? D. -?�]? )?��ल ??�? 

 

Q39. What is the purpose of "Backstage view" in Excel? 
 

A. Share Excel data with word documents B. Replace specific text with other text 

C. Create workbook based on the template D. Creates new sheets, Save and open sheets, 

Print and share sheets 

Q39. ए]9Oल /े䜂 "-P�}?O� }0K" �? �oO�0 ]0? :P? 
 

A. =!- !?]/ू.े䜂टὍ@ �O  @?% �]@Oल !O�? @?�? �0)? B. +=;>�� �O]}� �K 
m/ �O]}� @O ?&ल)? 

C. �Oम⹍+लO� �O  �??0 +0 =�- ?I� ?)?)? D. )� >I�, @O= �0 �+) >I�, +��� �0 >O/0 >I� ?)?)? 
 

Q40. Pick the odd one out: 
 
Botany, Zoology, Cardiology, Seismology 

 

A. Botany B. Zoology 

C. Cardiology D. Seismology 
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Q40. 
9
�- �? �01 �1े䜂: 
 

=1}+}- }=_?1, �?,I }=_?1, ह㥃/0 1K� }=_?1, .K�म⹍+ }=_?1 
 

A. =)}+)$ +=_?) B. �?#I +=_?) 

C. ह㥃&/ 0K� +=_?) D. -�ूम⹍+ +=_?) 

 

Q41. Find the analogy. 
 
CDE : ZXY :: EDC : 

 

A. UVT B. YXZ 

C. KLM D. EXY 

Q41. 9/?1-? +K
+े䜂। 
 
CDE : ZXY :: EDC : 

 

A. UVT B. YXZ 

C. KLM D. EXY 

 

Q42. Find the missing number. 
 
1, 2, 6, 24, 120, ? 

 

A. 350 B. 424 

C. 720 D. 500 

Q42. 
1J+}}.- 9
_0? _?- �1े䜂। 
 
1, 2, 6, 24, 120, ? 

 

A. 350 B. 424 

C. 720 D. 500 
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Q43. In certain language, if HATE is coded as 132, then how is LOVE coded? 
 

A. 136 B. 54 

C. 212 D. 34 

Q43. 0}/ ए� �K? .??? /े䜂 HATE �K 132 }ल?? �?-? :P -K LOVE �K ]0? }ल?? �?ए�?? 
 

A. 136 B. 54 

C. 212 D. 34 

 

Q44. Find the value of X in the following equation: 
5(X+2) - 4(X-3) = 40 

 

A. 12 B. 18 

C. 22 D. 16 

Q44. }1म⹍1}ल}?- 9/I�1, /े䜂 X �? /?1 }1�?ले䜂: 
5(X+2) - 4(X-3) = 40 

 

A. 12 B. 18 

C. 22 D. 16 

 

Q45. A box contains 10 cards numbered from 1 to 10. One card is drawn from the box. Find the 
probability that the number on the chosen card is a multiple of 2. 

 

A. 2/3 B. 1/3 

C. 1/6 D. 1/2 

Q45. ए� -Q]9 /े䜂 1 9O 10 1
-1 =?लO 10 �??व :K। �9 -Q]9 /े䜂 9O ए� �??व }1�?ल? �?-? :P। �9 -?- �ी ]0? 9
.?=1? :P }� �J1O �ए �??व 
�? 1
-1 2 �? ए� -:I/?1 :P? 

 

A. 2/3 B. 1/3 

C. 1/6 D. 1/2 

 

Q46. In an election, Party A got 73% votes and Party B got 27% votes. If the total number of 
voters are 5000, find the total number of votes received by Party A. 

 

A. 3650 B. 3220 

C. 3240 D. 3200 
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Q46. ए� �J1?= /े䜂 +??I A �K 73% =K? }/लO �1 +??I B �K 27% =K? }/लO। 0}/ /-/?-?� 
 �ी �J ल 9
_0? 5000 :P -K +??I A 
�?1? �?्䵎 �J ल =K?ो䬂 �ी 9
_0? �? +-? ल�?ए
। 

 

A. 3650 B. 3220 

C. 3240 D. 3200 

 

Q47. Raman bought an old bike for Rs.4300 and spends Rs.900 on its repair. He sold the bike 
for Rs.4200. Did he make a profit or incur a loss and by how much? 

 

A. Profit of Rs.1000 B. Loss of Rs.1000 

C. Profit of Rs.1500 D. Loss of Rs.1200 

Q47. 1/1 1O 4300 y+0O /े䜂 ए� +J1?1I -?�� ?1I/I �1 �9�ी /1म⹍/- +1 900 y+0O ?�व }�ए। �91O -?�� �K 4200 y+0O /े䜂 -O� }/0?। 
�9O ल?. :I� 0? 1J�9?1, �1 }�-1?? 

 

A. 1000 y+/O �? ल?- B. 1000 y+/O �? )I�@?) 

C. 1500 y+/O �? ल?- D. 1200 y+/O �? )I�@?) 

 

Q48. The SI unit of frequency is _____________. 
 

A. Hertz B. Second 

C. Period D. Decibel 

Q48. �=L}? �ी ए9.��. ��?� _____________ :P। 
 

A. AटὍ-़ B. @O�O o! 

C. +I90/! D. !O;@?Oल 

 

Q49. In _______ bonding, cations and anions are formed. 
 

A. Coordinate B. Covalent 

C. Ionic D. Metallic 

Q49. _______ -Q}m?
� /े䜂, �}?01 �1 ए}101 �? }1/?व, :K-? :P। 
 

A. �K�)! -)O� B. �K=Pले䜂� 

C. �/K))� D. .P�O;ल� 
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Q50. One of the types of venation in leaves is _________. 
 

A. Parallel B. Rectangular 

C. Square D. Zigzag 

Q50. _________ 1�1?, +}?0ो䬂 �ी }>1?-1�1? �? ए� ��?1 :P। 
 

A. @.?)?�$0 B. �/$�?0 

C. =�?-�?0 D. =्䵅 

 

Q51. Which of the following is NOT a type of thermometer? 
 

A. Mercury B. Infrared 

C. Stethoscope D. Thermistors 

Q51. }1म⹍1}ल}?- /े䜂 9O �L1 ए� ��?1 �? ./?व/I?1 1:K :P? 
 

A. .]/I-0I B. �m9?0O! 

C. }�O%K}�K+ D. %;.-}�0 
 

Q52. Which device is used to measure the temperature of an object? 
 

A. Rain gauge B. Pyrometer 

C. Stethoscope D. Barometer 

Q52. }�9I =}-J �O  -?+/?1 �K /?+1O �O  }लए }�9 �+�1, �? �+0K� }�0? �?-? :P? 
 

A. 0O) �O� B. +?�0K.I�0 

C. }�O%K}�K+ D. ?P0K.I�0 
 

Q53. What is the order of the coefficient of linear expansion? 
 

A. 10-6C B. 10-7C 

C. 10-9C D. 10-8C 
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Q53. 1P}?� }=}-?1 �O  �J,?
� �? ्䵅/ ]0? :P? 
 

A. 10-6C B. 10-7C 

C. 10-9C D. 10-8C 

 

Q54. The slope of a position-versus-time graph at a specific time is also known as: 
 

A. Force B. Acceleration 

C. Work done D. Velocity 

Q54. }�9I }=}>्䵖 9/0 +1 }}.}---1?/-9/0 ्䵇?? �ी +ल?1 �K }1म⹍1 �O  z+ /े䜂 .I �?1? �?-? :P: 
 

A. ?ल B. =O�=दृ♍�? 

C. ��� �� �?/- D. =O� 

 

Q55. What are the windows doubled walled? 
 

A. Thermal conduction B. Power conduction 

C. Power insulation D. Thermal insulation 

Q55. ?-ल =Qल㉍? }?)}�0?
 ]0? :K-I :K? 
 

A. %.-ल �� !]>) B. +=0 �� !]>) 

C. +=0 ��@IलO>) D. %.-ल ��@IलO>) 

 

Q56. Find the acceleration of an airplane which is traveling at 20 m/s and moves up to 50 m/s in 
4 sec. 

 

A. 5 m / s2 B. 45 m / s2 

C. 7.5 m / s2 D. 2.2 m / s2 

Q56. ए� :=?� �:?� /े䜂 =O�=L}? �ी �,1? �1े䜂, �K 20 m/s, 0?}? �1 1:? :P �1 4 9O�
 ? /े䜂 50 m/s -� -?-? :P| 
 

A. 5 m / s2 B. 45 m / s2 

C. 7.5 m / s2 D. 2.2 m / s2 
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Q57. Who invented the A.C. Current? 
 

A. J J Thomson B. Nikola tesla 

C. Rutherford D. Charles Darwin 

Q57. }�91O A.C. �1
? �? 
}=��?1 }�0? ? 
 

A. �O �O %I.@) B. ))�Kल? �O}ल? 

C. 0&0,K!- D. �?ल㉍@- !?+=-) 

 

Q58. If the radius of the sphere is 3r then what is its volume? 
 

A. 18 r3 B. 36 r2 

C. 36 r3 D. 22 r3 

Q58. 0}/ ए� �KलO �ी }}जᱍ0? 3r :P, -K �9�? =Qल㉍0K/ ]0? :P? 
 

A. 18 r3 B. 36 r2 

C. 36 r3 D. 22 r3 

 

Q59. A stone thrown upward to the sky reaches a height of 30 m. What will be its distance and 
displacement during this flight? 

 

A. 30m and 40m B. 60m and Zero 

C. 33m and 34 m D. 60 m and 22 m 

Q59. ��?> /े䜂 �+1 �ी �1, ,े䜂 �? �0? ए� +त⑍.1, 30 /I?1 �ी �
 �?� -� +:I
�-? :P। �9 �)?1 �O  /L1?1 �9�ी /K1I �1 }=}.?+1 ]0? 
:K�?? 

 

A. 30m �0 40m B. 60m �0 Zero 

C. 33m �0 34 m D. 60 m �0 22 m 

 

Q60. You start walking from a point on a circular field of radius 0.5 km and 1 hour later you are 
at the same point. What is your average speed for this whole journey? 

 

A. Circumference of the circle B. Circumference of the square 

C. Circumference of the rectangle D. Circumference of the triangle 
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Q60. �+ 0.5 }�/I �O  }}जᱍ0? �O  ए� �Kल �O} +1, ए� }-
/J 9O �ल1? >Jz �1-O :K �1 1  
?O -?/, �+ �9I }-
/J +1, },1 9O +1 :K-O :K| 
�9 +K1I 0?}? �O  }लए �+�ी �}- }� �9- ]0? :P? 

 

A. @�- ल �I +90�? B. }�=O0 �I +90�? 

C. 0O]�े䜂�ल �I +90�? D. र?/��ल �I +90�? 

 

Q61. Find the surface area of a cube when its volume is 729mm3. 
 

A. 332mm2 B. 486mm2 

C. 432mm2 D. 211mm2 

Q61. ए� ]0K- �O  9-: �O} �? +-? ल�?ए
 �- �9�? =Qल㉍0K/ 729mm3 :P| 
 

A. 332mm2 B. 486mm2 

C. 432mm2 D. 211mm2 

 

Q62. According to the Ohm's Law, which one of these is directly proportional to the current 
through a conductor? 

 

A. Power B. Conductance 

C. Capacitance D. Voltage 

Q62. �/ �O  }10/ �O  
1J9?1, �1/े䜂 9O �L1 9?, ए� �
 ?]?1 �O  /?o0/ 9O �1O? 9O �1J+?}-� :P? 
 

A. +=0 B. �� !]�ै䠂@ 

C. ]/?+?@�O)}@ D. =Kल㉍�O� 

 

Q63. Even at rest, a body may have: 
 

A. Energy B. Momentum 

C. Speed D. Velocity 

Q63. �1?/ �11O +1 .I >1I1 �K �?}:ए: 
 

A. �)�ी B. .K.े䜂�. 

C. }+I! D. =OलK;@�I 
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Q64. Which scale of temperature is the Kelvin scale? 
 

A. Resistance B. Low 

C. Absolute D. High 

Q64. �O }ल㉍=1 }�O ल -?+/?1 �? �L19? }�O ल :P? 
 

A. �)$0K? B. �. 

C. +#ू- D. �चᩍ� 

 

Q65. Which of the following actions can permanently harden soft water? 
 

A. Addition of the lime water B. Addition of the baking soda 

C. Addition of the salt D. Addition of the sugar 

Q65. }1म⹍1 /े䜂 9O �L1 9I }्䵅0?, }.?0I z+ 9O, >I-ल �ल �K �)K1 �1 9�-I :P? 
 

A. )I�?ू +?)I �? ;.ल) B. ?O��� � @K!? �? ;.ल) 

C. ).� �? ;.ल) D. �I)I �? ;.ल) 

 

Q66. In which kind of inductance does the change in magnetic flux between two closely placed 
coils leads to production of emf? 

 

A. Mutual inductance B. Self-inductance 

C. Iron Core inductance D. Laminate core inductance 

Q66. }�9 -1: �O  �1?�?1}9 /े䜂 , /K 1[/I� ल�?ए �ए �Q�ल �O  -I�, �J
-�ी0 �=?: /े䜂 -/ल?= :K1O 9O, emf �? �त⑍+?/1 :K-? :P? 
 

A. म⹍/चूᩍ/ू
ल �)!��)}@ B. @Oल㉍,-�)!��)}@ 

C. �/0) �K0 �)!��)}@ D. लP;.)O�O! �K0 �)!��)}@ 

 

Q67. Between pliers, scissors, brooms and arms, which one has a mechanical advantage of less 
than 1? 

 

A. Scissors B. Pliers 

C. Brooms D. Arms 
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Q67. 91L-?, �K �I, �?)�  �1 :}.0?1ो䬂 �O  -I�, 1 /े䜂 9O }�9�? 0?
}}� ल?. �/ :P? 
 

A. �ै䠂 �I B. @0L$? 

C. �?!ू D. >्䵨 

 

Q68. Which one of the following means ratio of output to input? 
 

A. Efficiency B. Strength 

C. Energetic D. Diligent 

Q68. }1म⹍1}ल}?- /े䜂 9O �L1 9? �1+J? 9O ��?+J? �? 
1J+?- :P? 
 

A. &�$? B. >m]$ 

C. >m]$>?लI D. .OA)$I 
 

Q69. Which one of these is a measure of force amplification achieved by using a simple 
machine? 

 

A. Mechanical advantage B. Physical 

C. Chemical D. Thermal conduction 

Q69. �1/े䜂 9O �L1 9? ए� 9?0?1, />I1 �? �+0K� �1�O  �?्䵎 }�ए �ए -ल �=0व1 �? ए� �+?0 :P? 
 

A. /?�-्䵔� ल?- B. -L)$� 

C. 0?@?/))� D. %.-ल �� !]>) 

 

Q70. There are three vessels. The first vessel contains neon (monoatomic), the second contains 
chlorine (diatomic), and the third contains uranium hexafluoride (polyatomic). According 
to which law will these three vessels of equal capacity have gases at the same temperature 
and pressure? 

 

A. Newton's law B. Gauss law 

C. Charles law D. Avogadro's law 
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Q70. -I1 --व1 :K| +:लO --व1 /े䜂 }10K1 (/K1Kए?K}/�), /K91O /े䜂 ]लK1I1 (??0?K}/�) �1 -I91O /े䜂 0K1O}10/ :O]9?oलK1?�? (+QलIए?K}/�) 

:K। }�9 �?1K1 �O  
1J9?1, 9/?1 �/-? �O  �1 -I1 --व1ो䬂 /े䜂, 9/?1 -?+/?1 �1 /-?= +1, �P9O9 :ो䬂�I? 
 

A. m/�ू) �? ))/. B. �L@ �?)ू) 

C. �?ल㉍@- �?)ू) D. 
=K�?्䵖K �? ))/. 

 

Q71. Find the total surface area of a pyramid having a slant height of 6 cm and a base which is a 
square of sides 4 cm each. 

 

A. 64cm2 B. 22cm2 

C. 33cm2 D. 75cm2 

Q71. ए� }+1?}/? �ी �J ल 9-: �O  �O},ल �? +-? �ी}�0O, }�9�ी }-1�I �	 �?� 6 cm �ी :P �1 }�9�? �0?1, ए� =�व :K-? :P, 
}�9�? �त⑍0O� 9?�? 4 cm �? :P| 

 

A. 64cm2 B. 22cm2 

C. 33cm2 D. 75cm2 

 

Q72. Find the area of rectangle with length 17cm and breadth 15cm. 
 

A. 123 B. 145 

C. 255 D. 148 

Q72. ए� 1O]?े䜂�ल �O  �O} �ी �,1? �1े䜂 }�9�ी लम⹍-?� 17cm �1 �L)?� 15cm :P| 
 

A. 123 B. 145 

C. 255 D. 148 

 

Q73. Find the area of a triangle if its breadth and length are 8cm and 15cm respectively. 
 

A. 60cm B. 22cm 

C. 34cm D. 24cm 

Q73. ए� }}�K, �? �O},ल �ी �,1? �1े䜂 0}/ �9�ी �L)?� 8 cm �1 ल
-?� 15 cm ्䵅/> :P। 
 

A. 60cm B. 22cm 

C. 34cm D. 24cm 
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Q74. What is the area of an equilateral triangle with each side being 8cm long? 
 

A. 13cm2 B. 22 cm2 

C. 54cm2 D. 16 cm2 

Q74. ए� �]=IलO?1ल र?0
�ल �? �O},ल ]0? :P }�9�? �त⑍0O� +� 8 cm ल
-? :P? 
 

A. 13cm2 B. 22 cm2 

C. 54cm2 D. 16 cm2 

 

Q75. The perimeter of a triangle is 14cm and its inradius is 3cm. What is the area of this 
triangle? 

 

A. 54cm2 B. 32cm2 

C. 21cm2 D. 42cm2 

Q75. ए� -1I�ो䬂 �ी +र1}0 14 cm :P �1 �9�ी }}जᱍ0? 3 cm :P| �9 }}�K, �? �O},ल ]0? :P? 
 

A. 54cm2 B. 32cm2 

C. 21cm2 D. 42cm2 

 

Q76. Among the given properties, which is not a property of the rubber wood? 
 

A. Strong B. It's compatible with most industrial adhesives 

C. Water proof D. Resistant to fungus 

Q76. }/ए �ए �J,ो䬂 /े䜂 9O, �L1 9I, 1-1 �ी ल�)I �ी 9
+}? 1:K :P? 
 

A. ?ल=?) B. /A 
�?�?�> �द♍/K��� ��+�)O �O  @?% @��$ AP 

C. �ल0K?� D. ,� �@ �O  ;ल� �)$0K?I 
 

Q77. Among the following options, heat energy is transferred via conduction by: 
 

A. Density differences B. Electromagnetic waves 

C. Molecular contact D. Movement through a vacuum 
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Q77. }1म⹍1}ल}?- }=�ल㉍+ो䬂 /े䜂 9O, �9 �? �+0K� �1�O , ��/? ��?व �K, �
 ?]>1 �?1? }.?1?
-र1- }�0? �?-? :P: 
 

A.  )m= �? 
�$0 B. +=द♍/I$�Iम⹍?�I/ $0��े䜂 

C. .I;ल]/लू0 @�+�-  D. �� =P]/ू. �O  .?o/. @O �ल) 

 

Q78. Areas of two circles are in the ratio 1:2. What will be the ratio of their circumferences? 
 

A. 3 : 2 B. 2 : 3 

C. 1 : 2 D. 4 : 9 

Q78. /K 9�व ल㉍9 �O  �O} 1: 2 �O  
1J+?- /े䜂 :K। �1�ी +र1}0 �? 
1J+?- ]0? :K�?? 
 

A. 3 : 2 B. 2 : 3 

C. 1 : 2 D. 4 : 9 

 

Q79. What is the specific gravity of a liquid if 520 ml of the liquid has the same mass as that of 
650 ml of water? 

 

A. 1.25 B. 1.6 

C. 1.8 D. 0.5 

Q79. -1ल �? }=}>्䵖 �Jyत⑍= ]0? :K�?, 0}/ 520 ml -1ल /े䜂, 650 ml +?1I �O  9/?1, ?}0/?1 :P? 
 

A. 1.25 B. 1.6 

C. 1.8 D. 0.5 

 

Q80. Which one of these is inversely proportional to the resistance? 
 

A. Conductance B. Force 

C. Displacement D. Velocity 

Q80. �1/े䜂 9O �L1 9? �}-1K0 �O  }=+1I- �1J+?}-� :P? 
 

A. �� !]�ै䠂@ B. ?ल 

C. +=}%?+) D. =O� 
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Q81. Find the circumference and area of a circle with radius 2.6 cm. 
 

A. 16.3cm and 21.23 cm2 B. 44cm and 2.56 cm2 

C. 12cm and 23.2 cm2 D. 34cm and 78 cm2 

Q81. ए� 9�व ल, }�9�ी }}जᱍ0? 2.6cm :P, �9�ी +र1}0 �1 �O},ल �ी �,1? �1े䜂| 
 

A. 16.3cm and 21.23 cm2 B. 44cm and 2.56 cm2 

C. 12cm and 23.2 cm2 D. 34cm and 78 cm2 

 

Q82. Find the length of an arc in a circle with a radius of 2 cm if the arc cuts the circle at a 60 
degree angle. 

 

A.  
B.  

C.  D.  

Q82. 2 cm �O  }}जᱍ0? =?लO ए� 9�व ल /े䜂, ए� �?+ �ी ल
-?� �? +-? ल�?ए
, 0}/ =K �?+ 60 }?्䵇I �O  �K, +1, 9�व ल �K �??-? :P| 
 

A.  
B.  

C.  D.  

 

Q83. From where do we obtain the pig iron? 
 

A. Coal B. Furnace Blast 

C. Himalayas D. Mild steel 

Q83. }+� �011 :/े䜂 �:?	 9O �?्䵎 :K-? :K? 
 

A. �K/ल? B. ,)े@ सल?}� 

C. 9A.?ल/ D. )0. �}+?$ 
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Q84. When the pressure in a fluid crease, then the depth: 
 

A. Remains constant B. Varies 

C. Increases D. decreases 

Q84. �- ए� ?= /े䜂 /-?= -?-? :P, -K �:1?�: 
 

A. m}%0 0A$I AP B. ;-m) AK �?$I AP 

C. ?^$I AP D. �. AK �?$I AP 
 

Q85. Mohan is rolling his gardening roller and moves it by 40 meters at the angle of 60o. He 
applies a force of 40 kg in an inclined direction towards the ground. Calculate the work 
done by Mohan. (g = 10 m / sec2) 

 

A. 400 J B. 800 J 

C. 4000 J D. 8000 J 

Q85. /K:1 
+1O -?�=?1I 1Kल1 �K 1Kल �1 1:? :P �1 �9O 60o �O  �K, +1 40 /I?1 -� लO �?-? :P। =: �/I1 �ी �1 �J�ी :I� }/>? /े䜂 
40 kg �? -ल ल�?-? :P। /K:1 �?1? }�ए �ए �?0व �ी �,1? �1O| (g = 10 m / sec2) 

 

A. 400 J B. 800 J 

C. 4000 J D. 8000 J 

 

Q86. A cuboidal box of dimensions 1m x 4m x 3m is to be painted except its bottom. Calculate 
how much area of the box has to be painted. 

 

A. 55 m2 B. 22 m2 

C. 32 m2 D. 45 m2 

Q86. ए� ]0J-Q�?ल -Q]9 }�9�O  �0?/ 1m x 4m x 3m :P 	 , �9�O  -ल �K �K?�1, 
m0 .?�ो䬂 �K +े䜂? �11O �ी �=�0�-? :P �,1? 
�1े䜂 }� -Q]9 �? }�-1? �O} +े䜂? }�0? �?1? �?}:ए| 

 

A. 55 m2 B. 22 m2 

C. 32 m2 D. 45 m2 
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Q87. The parallel sides of a trapezium measure 6cm and 8cm. Calculate its area if the distance 
between the parallel lines is 15cm. 

 

A. 345 cm2 B. 441 cm2 

C. 112 cm2 D. 150 cm2 

Q87. ए� रO+O}[0/ �O  9/?1?
-1 +� 6 cm �1 8 cm /?+-O :K| �9�O  �O} �ी �,1? �1े䜂 0}/ 9/?1?
-1 1O??� 
 �O  -I� �ी /K1I 15 cm 
:P। 

 

A. 345 cm2 B. 441 cm2 

C. 112 cm2 D. 150 cm2 

 

Q88. Which of the following is the right term for pressure? 
 

A. Momentum per unit area per unit time B. Energy per unit volume 

C. Momentum per unit area D. Momentum per unit volume 

Q88. }1म⹍1 /े䜂 9O �L1 /-?= �O  }लए 9:I >m/ :P? 
 

A. .K.े䜂�. �)$ /)ू)� �O्䵔 �)$ /ू))� @./ B. ��?- �)$ /)ू)� =Iल㉍/ू. 

C. .K.े䜂�. �)$ /)ू)� �O्䵔 D. .K.े䜂�. �)$ /)ू)� =Iल㉍/ू. 

 

Q89. If a ball is thrown vertically upwards with a velocity of 120 m/s, what will be the velocity 
of the ball after 4 seconds? (g=10) 

 

A. 80m/sec B. 20m/sec 

C. 40m/sec D. 60m/sec 

Q89. 0}/ }�9I �े䜂/ �K 120 m / s �O  =O� �O  9?. ल
-=- �+1 �ी �1 ,े䜂 �? �?-? :P, -K 4 9O�
 ? �O  -?/ �े䜂/ �? =O� ]0? :K�?? (g = 
10) 

 

A. 80m/sec B. 20m/sec 

C. 40m/sec D. 60m/sec 

 

Q90. A snail covers a distance of 500 meters in 20 hours. Calculate the average speed of the 
snail in km/hr. 

 

A. 0.005km/hr B. 0.025km/hr 

C. 0.003km/hr D. 0.006km/hr 
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Q90. ए�  ो䬂 ? 20  
?O /े䜂 500 /I?1 �ी /K1I -0 �1-? :P| km/hr /े䜂  ो䬂 O �ी �9- �}- �ी �,1? �1े䜂। 
 

A. 0.005km/hr B. 0.025km/hr 

C. 0.003km/hr D. 0.006km/hr 
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